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1) x=yo'zexeozey",

Axiom of extent For each x and each y it is true that x=y ifandonly
if for each z, zex when and only when zey.
2) X v Vzcx ZEY.
yo 2"
Axiom of subsets If x is aset thereisaset y such that for each z,
if zcx then zey.

3) X oy XUy :
Axiom of union If x isasetand y isaset sois xuUy.

4) / A . f -
Axiom of substitution If f isafunction and domain f is a set, then range

f is a set.

5) x Ux

1 Ux Ux={z|3y zey yex}

2 Ux

Axiom of amalgamation If x is a set so is Ux.

6) X£¢, X y XNy=¢.
X&X

Axiom of regularity If x=¢ , there i1s a member y of x such that
XNy=¢.
7) y pey XeEy xu{x}ey.

Axiom of infinity For some y, y is a set, gy and xu{x}ey whenever
Xey.

8) A ~{s} c
[ ] c c c X

c(x)ex
Axiom of choice There is a choice function ¢ whose domainis A ~{¢}

9) “a” “p~7
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Classification axiom-scheme Anaxiom results if in the following “ « ~and

< p Tare replaced by variables, < 4~ by a formula A and < B * by the

formula obtained from A by replacing each occurrence of the variable which

replaced « by the variable which replaced g

For each g, pe{a|A4} if and only if S is a set and B

RxR={(x,y)|x,yeR}

{a,b,c}>{0,1} ={(a,0),(a,1),(b,0),(b,1),(c,0),(c,1)}

AxB={(a,b)|ac A,b e B}

A x Ay %X A, ={(a1’a2""van)|aiEAi} n HAi
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A xA,x-={(a,,a,,")|a, € 4,a,€ 4,,"-} HA.

L4 HA;, ={{a,},cx la, € 4,}

AeA

HA/I ={(a;) e la, €4,}

AeA

[T4.=U1ra->UA s e}

AeA AeA

4,=Y A=x []4,=Y" Y'={f|f:X>7Y}

AeA

o {4|4c{ab}}y={p{a} B} A} b} {a,}{a, b} {a,b,c}} 2

o {A|Ac{L,2,---,n}} 2"

° X X {4|Ac X} 2* 2" ={4]|Ac X}
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